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𝜽𝐬𝐜𝐢,𝐧𝐠𝐬 = 𝟑"
𝒉𝒍 = 𝟏𝟐. 𝟓 𝐤𝐦
𝒗𝒍 = 𝟏𝟎𝟎𝐦. 𝐬𝟏

𝜽𝐬𝐜𝐢,𝐧𝐠𝐬 = 𝟑"
𝒉𝒍 = 𝟕. 𝟓 𝐤𝐦
𝒗𝒍 = 𝟑𝟓𝐦. 𝐬𝟏
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𝜌Sh = 𝑒𝜎tot2 ↔  = m +  + ph +  + 



→ m = 𝛼m
𝑑actu

𝜒3/5𝑟sci

/

→  = 𝛼
𝑣0

𝜒3/5𝑟sci.𝑓.𝑔

𝛽lag

→  = 𝛼
𝜃sci,ngs𝜒ℎ0
𝜒3/5𝑟sci

𝛽iso →  = 𝛼𝛼px 𝑁px4 px
𝑔
𝑔

/𝑁ph,


 + 

 ∈ {, , , } ⋆

𝑙 ⋆  ∈ {, , , }
𝑙 =  𝑙/ 6/ ⋆

  ⋆

 ⋆

 = /  𝜁 ⋆ 𝜁
Φ𝑙

⋆  //
Ξ𝑙 

 ⋆ 
𝑙,𝑙′ ⋆  ↔ 
𝑁md ⋆

 = / 𝑁md/𝜋
𝑁px

𝑁ph,𝑙 = Φ𝑙
𝐷wfs
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𝑓
px 𝛼px

⋆

⋆  ≠ /

 = m + ,H + , + ph,H Ξ ≃ "
+ph, Ξ + ,H + , + ,H + , + ,

𝑆 = 𝑒𝜎LO
2

 = m + ,H + ph,H +
,H +  + ,

▪

▪

▪ 𝛼, 
▪

▪

𝛼 
▪

▪

▪

▪

▪

▪
𝛾𝑙

𝑝 = σ𝑙1
𝑛layer 𝐶𝑛,𝑙 𝑝𝑙

/ /

→ ph = 𝛼ph
𝜆ngs
𝜆sci

 𝑔
𝑔

.𝑁ph,/𝑁ph,

Ξ ≃ 𝑆


,



+  − 𝑆





, ∝ 𝐷tel
𝜒3/5𝑟sci

ℎ0
ℎlgs

/
,H/ ∝

,/,
/

/


